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: Computers are made up of circuits containing :
Simple logic diagrams using the operators “AND”, “OR” : mi||io_Bls of slwitcrz(e)s’\.l As glglg;rical switches have two
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Applying logical operators in truth tables to solve 1 combinations of 1’s and O’s. :
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: There are a number of different logic gates which produce different results when they receive inputs (1’s and 0’s.) 1
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: The possible values for each gate
| can be represented using a
: TRUTH TABLE.

: An AND gate has two possible
: inputs - ‘A’ and ‘B’
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: ‘Q’ are the possible outputs
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I Logic gates can be combined to create complete A B
: circuits. These can also be represented using truth
j tables. The circuit below is made up of three gates: 0 0
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1 This an also be represented as a Boolean expression: -
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